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COMMON THIRD REVISION TEST - 2023

~ Standard X = RegNo.l [O[E]l [&
Time: 3.00 hours MATHEMATICS | :
: Part - | Marks: 100
I. Choose the correct answer: : | 14x1=14
1. A={a,b,p} B=1{2,3} C={p, g1, s} then n(ALC) x B] is |
a) 8 - b) 20 G)12" s d) 16

2. Letfand g be two functions given by f={(0,1), (2,0), (3,-4), (4,2), (5,7)}
9={0.2), (1,0), (2,4), (4,2), (7.0} then the range of fog is

| a) {0.234,5)  b) (41027  c){1,2345) d) {0,1,2}
3. GivenF'=1,F = = ' '

1 ; 3 and Fn Fn_1 + Fn_2 then F5 iS
fa) 3 b) 5 , c)8 d) 11

4. The number of points of intersection of the quadratic polynomial'x2 +4x + 4 with the x
axis is SR

a0 D) c)i0orl N d) 2
5. If number of columns and rows are not equal in a matrix then it is said to be a
a) diagonal matrix . b) rectangt_jlar matrix ' ‘
C) square matrix | _ ~d) identity matrix
5. In ALMN, £L = 60°, #M = 50°. If ALMN ~ APQR then the value of ZR is
“a) 40° b) 70° %.c)30° d) 110°

7. If slope of the line PQ is %/g , then slope of the perpendicular bisector of PQis

a) V3 g D) BN c) %/5 d) 0.
3. (2,1)is the point of intersection of two lines : |

A By s 0iaeyer=0 S b)xtys8,3(+y =7

c) 3x+y=3,x+y=7 d)x+3y-3=0,x-y-7=0
). Atoweris 60 m héigh. Its shadow is x meters shorter when the sun’s altitude is 45°
~ then when it has been . Ito |

B gy 4sEm
ster above a lake is B. The angle of
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11.7if two solid hemispheres of same base radius r units are joined together along their

12.

13

14.

i
15

16.
w7
18.

19.

20.

21
22

23.

bases, then curved surface area of this new solid is

a) 4nrf7‘ sq.units  b) 6nr’ sq.units  c¢) 3’ sg.units , d) 8’ sq.units

A solid sphere of radius x cm is melted and cast into a shape of a solid cone of same
radius. The height of the cone is

a) 3x cm b) x cm c) 4x cm | d) 2x cm
Variance of first 20 natural number is _ '
a)32:25 b) 44.25 ¢):38.2% d) 30

A page is selected at random from a book. The probability that the digit at unit place of
the page number closed is less than 7 is

) Ao b %, ¢) % d) 74

Part - lI
Answer any 10 questions. (Q.No. 28 is compulsory) 10x2=20
Letf= {(x y) /x,y € Nand y = 2x} be a relation on N. Find the domain, codomam and
range. Is this relation a function? :
Find k if fof(k) = 5 where f(k) = 2k — 1
Prove that two consecutive positive lnteger are always coprlme
HRIEE 2563 + 8 +k= 325thenf|nd1 B2+, I,

x3 y3

+
X-y yoX

Simplify :

1453 52

18
A= 5 =4 6 B=13 4 fya+B
56

=8+ 2 5.9

Define Concurrency Theorem.
Show that the points (-2,5), (6,—1) and (2,2) are collinear.

Find the equation of a line whose intercepts on the x and y axes are -5 and %
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(3) X Mathematics
The range of a set of data is 13.67 and the largest value is 70.08. Find the smallest -

value.

Write the sample space for tossing three coins using tree diagram.

The radius of a spherical balloon increases from 12 cm to 16 cm as air being pumped
into it. Find the ratio of the surface area of the balloons in the two cases.

. Part - lll
Answer any 10 questions. (Q.No.42 is compulsory) 10x5=50
Afunction f is defined by f(x) = 2x -3
e 0+ £ _ |
i) Find f0)+ ) ii) Find x such that f(x) = 0
iif) Find x such that f(x) = X : iv) Find x such that f(x) = f(1 - X)
£ pr™ xpo™2 xpa™3 xp,*4 = 113400 where p,, p,, p., p, are ascending order and

X, X5 X, are integers, find the valueofp Py Py P, andx 12 X Xgs X,

' ln a G.P. the product of three consecutive terms is 27 and the sum of the product of

two terms taken at a time is 5% . Find the three terms.

1 1
+ -
Xo —5X 160 X2 D AR

| 2 A, g S R
Let A= B Lol 172 ;showthatA(BC)=(AB)C.

Simplify :

. State and prove Pythagoras theorem

Find the area of the quadrilateral formed by the points (8,6), (5,11), (~5,12) and
(~4.3). i e

You are downloading a song. The percenty (in decimal form) of mega bytes remaining
to get downloaded in x seconds is'given by y = 0. 1x 2] '

i) Find the total MB of the song
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A right circular cylindrical container of base radius 6 ¢m and height 15 om is full of e

cream. The ice cream Is 1o be filled In cones of height 9 cm and base radiué 3 o,

having a hemispherical cap, Find the number of cones needed to empty the cortiaine:.
Find the coefficient of variation of 24, 26, 33, 47,29, 31,

Two dice are rolled once, Find the probabllity of getting an even number on 106 first gic

or a total of face sum 6.

1 1 g e | S0 DR R (O (Y " )
S0"“@’5'2x+”4y 32 4'x 3y'x 5y1'f/, 115
Part - IV
Answer all the questions. 278516
a) Construct a triangle similar to a given triangle PQR with its sides equal 1o j g

the corresponding sides of the triangle POR,
(OR)
b) Draw a circle of radius 4 cm. At a point L on it draw a tangent to the circle using

the alternate segment.
a) The following table shows the data ahout the number of pipes and the time tzken

to fill the same tank.

No of pipes (x) 2 3 6 9

Time taken (in minj(y) | 45| 30 | 15 | 10

Draw the graph for the above data and henczg

) Find the time taken to fill the tank when' pipes are used

i) Find the number of pipes when the time is 9 minutes
(OR) |

b)  Graph the equation (2x - 3) (x + 2) = 0 and state their nature of solutions.
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